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Model 1: 
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1. How many males are in the pedigree? _______________
2. How many generations are there? ___________________
3. How many children did the first generation parents have? ___________
4. What was the sex of their third child? ________________
5. What do you think the horizontal lines represent? What do the vertical lines represent? 
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
6. Use your knowledge of inheritance and the key below to label genes on the pedigree for all individuals.
E – gene for unattached

e – gene for attached

7. Suggest a way to show individuals who have a gene for attached earlobe but do not have attached earlobes. 


Model 2: 


8. Look this pedigree.                                                 
a. How many individuals are affected? 
b. How many individuals are not affected? 
9. Looking at pedigree B.

a. How many males are in this pedigree?
b. How many females are in this pedigree?
c. How many of the males are affected? 

d. How many of the females are affected?

e. Show the ratio of affected males : unaffected males.

f. How the ratio of affected females : unaffected females. 

10. Draw a pedigree to represent the following scenario:

Mary and Jack are married and have brown eyes. They have 3 children; John has blue eyes, Suzie has brown and Sam has blue eyes. Sam is married to Beth, who has brown eyes and they have 2 sons, Joey and David, both of whom have brown eyes. Suzie is married to Tony and they have a daughter, Denise, with brown eyes. Be sure to include generation numbers, individual’s names and genotypes for all individuals. Are there any individuals for whom it is impossible to determine what genes they have? If so, who are they? 
A pedigree is a diagram that shows the appearance of a phenotype or genetic trait from one generation to the next in a family. Males are represented by squares and circles represent females. 


Each generation is numbered using roman numerals, with the first or oldest generation being generation I. Within each generation the individuals are numbered, so II-4 would refer to the fourth individual in the second generation. Individuals are placed left to right in order of their birth. The following pedigree shows the inheritance of attached earlobes.  Shaded circles and squares represent someone who has the trait. 
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